
SSLC Model Examination March
2021

Mathematics – English Version.
Detailed Solutions with Questions.

Prepared by Dr.V.S.RaveendraNath.

Question. 1

Solution.
Given sequence = 4,10,16,…..
Common difference = x2 – x1 
                    = 10 – 4 = 6.
…………………………………………………..drvsr 
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Question. 2.

Solution.
 ACB = 900  (Angle in semi circle). 
……………………………………………………..drvsr
Question. 3.
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Solution.
 ∆PQR be rt. isosceles triangle
∴P = R 450 .

PR = x√2 = 5√2
…………………………………...drvsr
Question. 4.

Solution.
(3,0). [y = 0 becomes x axis)
…………………………………...drvsr
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Question. 5. 

Solution.
                x1,y1  x2, y2

Given points = (6,2) (12,2) 

Mid point = (
x 1+x2

2
,
y 1+y2

2 )
           = (6+12

2
, 2+2

2 )
           = ( 18

2
, 4
2 ) = (9, 2).

…………………………………………………...drvsr
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Question. 6.

Solution.
Given xn = 3n + 2 
(a). Put n= 1, get the first term 
ie., first term = 3 ×  1 + 2 = 5.
(b) 10th term  ; put n = 10 
     ie., 3 ×  10 + 2 = 32. 
…………………………………………………….drvsr.
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Question. 7.

Solution.
Given AOC =1000 . 

a). Measure of ADC = 1
2

 ×  100    

                 = 500 . 
b) ABC = 180 – 50 = 1300 . 
   [ ABCD be a cyclic quadrilateral]
…………………………………………………..drvsr 
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Question. 8.

Solution.
a) Given natural numbers 1 to 20.
Total numbers n(N) =20. 
From this even numbers       
= 2,4,6,8,10,12,14,16,18,20
ie., n(F) = 10.
Hence the probability = n(F) / n(N) 

                = 10
20

  = 1
2
 .

b) Multiple of 5 are 5,10,15,20.
  ie., n(F) = 4 

SSLCModel Exam2021 Naths solutions                      -7-                        Prepared by Dr.V.S.RaveendraNath



Hence the probability = n(F) / n(N) 

       = 4
20

 = 1
5
 

…………………………………………………...drvsr

Question. 9. 

Solution.
Given polynomial = x2 – 16 
The first drgree polynomial
   = (x + 4) (x – 4) . 
       [ ∵(a+b)(a- b) = a2 – b2 ) ]
…………………………………………………..drvsr.
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Question. 10.
I  n  the  figure  the  sides  of  the
rectangle  ABCD are  parallel  to  the
axes. Two of its vertices are A(3,1)
and  C(-  3  ,  -  1)  .  Write  the
coordinates of B and D.  
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Solution.
From the figure we can directly 
observed that 
B(+3, 1) and D(3,-1). 
…………………………………………………...drvsr
Question. 11.

Solution.
Given, 5th term of an AP is 20 and 8th

term is 32.
a) 
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ie., 32−20
8−5

 = 12
3

 = 4.

b). Given 5th term = 20.
 ie., f + 4d = 20.
      f + 4 ×  4 = 20
     f = 20 – 16 = 4.
Hence 11th term = f + 10d
                   = 4 + 10 ×4 
                  = 44.
……………………………………………………...drvsr
 Question. 12.
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Solution.
Given x is a natural number.
a) 1 is added to x2 + 2x get a 
perfect square 
[∵ x2 + 2x + 1 be (a + b)2 form]
b) Given  x2 + 2x = 15 
[by square completion method or 
factorization method or quadratic 
method]
x2 + 2x + 1 = 15 + 1 
(x + 1)2 =16.
x +1 = √16 = 4.
x = 4 – 1 = 3.
∴ the natural number 
representrd by x = 3.
……………………………….drvsr
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 Question. 13.

Solution.

 Construction: 
 Draw  a  circle  with
radius  3cm  O  as  the
center.  Draw  OB  and
make an  AOB = 1000

(2  ×  50  =  100).make  an  BOC=
1200 .( 2 ×  60 = 120) and join AB,BC
and AC. 
…………………………………………………...drvsr
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Question. 14.

Solution.
Given, AB= 17cm, PA = 9cm,
       PD = 12cm. 
a) Length of PB = AB – PB 
                  = 17 – 9 =8cm
b) We know thatPA x PB = PC x PD
 ie.,9 x 8 = PC x 12
   PC = 72/12 = 6 cm.
…………………………………………………...drvsr
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Question. 15.

Solution.
Given ∆ABC is a rt. triangle 

AB = 3, cos A = 3
5
 .

a) cosA = Adj
Hpy

 = AB
AC

 = 3
5
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ie.,  AC = 5.
b) Here AB = 3, AC = 5
∆ABC is a rt. triangle 
By Pythagoras,
BC2 = AC2 – AB2 
    = 52 – 32 = 25 – 9 = 16
∴ BC = √16 = 4.

 sin A = Opp
Hpy

 = BC
AC

 = 4
5
 . 

………………………………………………...drvsr
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Question. 16.

Solution.
Given PA = 5cm, QB = 4cm,
RC = 3cm, SD = 2cm. 
a) The length of PD = PA = 5cm 
[ length of same tangent]
b). 
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From the figure perimetr 
=PA+AQ+QB+BR+ RC+CS+SD+DP 
= 5+4+4+3+3+2+2+5 = 28cm.
…………………………………………………..drvsr
Question. 17.

 Solution
Given, r = 6cm, l = 10cm.
a) Height = √l2

−h2  = √102
−62 

           = √100−36 = √64  
                        = 8cm.

b). Volume = 1
3

 ×πr2 . 
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 = 1
3
 × π × 62 

×
  8 = 96π cm3 

………………………………………………..drvsr
Question. 18.

Solution.
Equation of the 
circle  x2 + y2 = r2

  radius = √32
+42  

  = √9+16  = √25  
               = 5. 

Coordinates be (5,0) or (-5,0)
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……………………………………………...drvsr
Question. 19.

Solution.
C  onstruction.   

Draw a circle 
with a radius 3cm
O as its center. 
Draw OA line and
draw 
perpendicular to 

OA throw A.
………………………………………………….drvsr
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Question. 20.

Solution.
Given, the area of the rectangle 
                                  = 40 cm2 . 
a) Area of the shsded triangle 

    = 1
2
 × 40 = 20cm2 . 

b) Probability =
areaof the shaded region

T otal area of therec tan gl e
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 = 20
40

 = 1
2
 . 

………………………………………………...drvsr
Question. 21.

Solution.
Given, 10th term = 20,
            20th term = 10.

a) ie.,d =  10−20
20−10

 = −10
10

 = -1.
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b). Given 10th term – 20
   ie., f + 9d = 20 
       f + 9 ×  -1 = 20 
          f = 20 +9 = 29
Hence the 30th term = f + 29d 
             = 29 + 29 ×  -1 =0
c). Here 30th term is 0
    ∴ the 31st term be -1. 
……………………………………………...drvsr
Question. 22.
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Solution.
Give sequence 1, 3, 5,……..
f = 1 ; d – 3 – 1 = 2. 
a) 20th term = f + 19d 
              = 1 + 19 ×  2 = 39.
b) Sum of 1st 20 term = n2 
              = 202 = 400.
c). Given sequence 6,8,10,…….
 f = 6, d = 8 – 6 = 2.
x20 = f + 19d = 6 + 19 ×  2 
               = 44 .( xn) 

Sum = n
2

 (x1 + xn)  

    = 20
2

 (6 + 44) = 500.
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…………………………………………….drvsr
Question. 23.

Solution.
a) Measuremet of A 
            = 180 -(90+20) = 700

b). Center angle of arc BQD 
   = 2 ×  A = 2 ×  70 = 1400 .
c)  Center angle of arc BAPC 
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   = 2 ×  D = 2 ×  20 = 400 .
………………………………………………drvsr
 Question. 24.

Solution.
a) Given perimeter = 40cm.
  ie., 2(l+b) = 40 
         l + b = 40/2 = 20. 
Here we can write so many pair of
numbers . Only we get the sum of
two numbers becomes 20
such as 13,7; 11,9; 15,5; and 
so on.
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b) Perimeter = 40cm
       Area  = 84 cm2 . 
  ie., 2(l+b) = 40 
         l + b = 40/2 = 20. 
Let length be ‘x’  ,  
 breadth 20- x
Area = 84
ie., l ×  b = 84 
    x(20 + x) = 84 
 20x – x2  = 84
x2 – 20x = -84  ( apply square 
completion method)
x2 – 20x + 100= -84 + 100
(x – 10)2 = 16
x – 10 = √16 = 4 
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x = 4+ 10 = 14.
Hence length = 14 cm 
breadth = 20 – 14 = 6cm.
…………………………………………..drvsr
Question. 25.

Solution.
Box - 1 Box – 2 

Black beads 6 5
White beads 4 3

Total 10 8
a)Total number of pairs 
= m ×  n =  10 ×  8 = 80.
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b) Total number of both black 
 = m ×  n =  6 ×  5 = 30.
Probability = n(F)/n(N) = 30/80
                         = 3/8.
c) Probability being one black and 
one being white

 = 4×5
80

 + 6×3
80

 = 20
80

 + 18
80

 

 = 38
80

 = 19
40

 . 

………………………………………………..drvsr
Question. 26.
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Solution.
a) Given P(x) = x2 – 5x + 10 
 P(2) = 22 - 5 ×  2 + 10 = 4 .
b) P(x) – P(2) =x2 – 5x + 10  - 4 
         = x2 – 5x + 6 [factorize]
         =  (x – 3) (x – 2)  
……………………………………………...drvsr
 Question. 27.

Solution.
a)
b)
c)
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…………………………………………...drvsr
 Question. 28.

Solution.
Given AB = 12cm, AD = 6cm, A = 
300 . 
∆AED be a rt. Triangle.
300 , 600 , 900 . 
1 : √3 : 2
[ see the question figure]
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a) Length of DE = x = 3cm.
b) Area of ABCD = bh 
             = 12 ×  3 = 36cm2 . 
……………………………………………drvsr
Question. 29.
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Solution.
Given data 
     = 26,21,32,38,45,48.
a)Mean = Sum / N 
     =  26+21+32+38+45+48/6
    = 210/6 = 35.
b). Median
   Arrange the data in assenting 
order
ie., 21,26,32,38,45,48 . 

 32+38
2

 = 70
2

 = 35.

……………………………………………...drvsr
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 Question. 30.

Solution.
a) Other points 
       (0,-5), (5,0), (-5,0)
b) Radius = 5.

c) Find the distance between the 
points (4,4) and (0,0)
   √x2

+y2 = √42
+42 = √16+16 

              = √32 
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we can see that √32  is grater 
than the radiou 5. 
Hence the the point is not lies 
on the circle.
………………………………………………...drvsr
 Question. 31.

SSLCModel Exam2021 Naths solutions                      -35-                        Prepared by Dr.V.S.RaveendraNath



  Solution.
a) Next lines of this pattern 
   10  11  12   3  14  15  16.
b) Last number in each line 
    1 , 4, 9 , 16  ,25  ,…….. 
c) Number in the 9th line
     92 = 81.
d) First number of 10th line= 82.
    [∵ 9th line number = 81]
  Last number of 10th line 
      = 102 = 100. 
……………………………………………..drvsr
 Question. 32.
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Solution.

b) ABCD be a Parallelogram.
c) Area = bh
         = 5 ×  3  =15.sq.unit 
………………………………………………….drvsr
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 Question. 33.

Solution.
a) 

 
b) 

…………………………………………...drvsr
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Question. 34.

Solution.
Given, B = 900 ,ADC = 1200 
DC = 10cm. C = 300 . 
a) In ∆ADC , A = 180 – (120 + 
30) = 300 .  
In ∆ABC , 
 A =  180 – (90 + 30 + 30) = 300 .
∴ DAC = 300 . 
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∆ABD be a rt. triangle, 
300 , 600 , 900 . 
1 : √3 : 2
                [ see the question figure]

BD = 10/2 = 5cm;(x) 
BC = 5 + 10 = 15cm
AB = x√3 =  5√3
b). AD = 2x = 10cn
c). Length of BD = 5cm.
In rt. triangle ABC
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    Length of AC = √AB2
+BC 2 

     = √5√32
+152 = √75+225 

     =  √300 = 10√3 cm.
………………………………………………….drvsr
Question. 35.

Solution.
Given, A = 700 ,  B = 600 .
a) Measurement of BPQ= 600 .
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b) PRQ = 600 .
c) Other two angles are
       PQR = 550 and  
         QPR = 650 
……………………………………………….drvsr
Question. 36.

Solution.
Given, sum of the first 31st term = 
620.
a) 16th term (x16) = Sum/N 
                    = 620/31=20.
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b) Sum of the 15th and 17th term 
    = 2 ×  x16 = 2 ×  20 = 40..
c). Sum of first and 31st term
     x1 + x31 = 40.
………………………………………………….drvsr
Question. 37.

Solution .
a)POQ = 180 – 50 = 1300 . 

SSLCModel Exam2021 Naths solutions                      -43-                        Prepared by Dr.V.S.RaveendraNath



b)
Construction
Draw a circle
with radius 
3cm O as 
the center. 
Makes an 
angle AOB = 
130 (180 – 
50).And also 

makes BOC = 110 (180 – 70). 
Draw tangents throw A,B and C.
……………………………………………….drvsr
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Question. 38.

Solution .
Given, the ratio of diameter 
                     = 2 : 3.
a) Ratio of radius also be 2:3.
b). Ratio of surface area 
   3πr2  :  3πr2 
  =  4 π ×22  :  4 π ×32 

    = 4:9.
c) TSA of the first sphere =16π
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TSA of the second sphere = 

                16π ×  
9
4

 = 36π cm3 .

……………………………drvsr
Question. 39.
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Solution .
Height Frequency cf
130-140 9 9
140-150 10 19 (F)
150-160
(Median
class)

10 (f)     29   N
2

160-170 9 38
170-180 7 45

Total 45

a) Position of the child with         

 median height = n+1
2
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                = 45+1
2

 = 23.

b) The assumed height of the 
   20th student 

  N
2

 = 45
2

 = 22.5., 

 Median class 150-160 , 
 l1 = 150
 C = 10, F =19, f = 10.
The assumed height of the 

   20th student = 150+151
2

 

   = 301
2

 = 150.5.
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c) Median height l1 + 
(N

2
−F)C
f

 

 = 150 + 22.5−19
10

 ×  10 

= 150 + 3.5 = 153.5cm. 
……………………………………………..drvsr
Question. 40.
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Solution .
Given triangle be a rt. triangle.
ie.,300 , 600 , 900 . 
1 : √3 : 2
                [ see the question figure]

a) Length of the laser 
   = 2 ×  2 = 4m.
b).  Height = 2m.
 Distance = 2√3m.

……………………….drvsr
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Question. 41.

Solution
a) Length of PD = PC + CD 
                = 5 + 7 = 12.
b) By given condition 
    PB = x + 4.
c) We know thay 
     PA x PB = PC x PD
  ie., x(x + 4) = 5 x 12
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x2 + 4x = 60 
 ( using square completion method)
x2 + 4x + 4 = 60 + 4
(x + 2) 2 = 64
x + 2 = √64 = 8
x = 8 – 2 = 6 cm
PA = 6 cm.
……………………………………………….drvsr
Question. 42.

Solution.
a).Center of the circle 
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Find the mid point

  
x 1+x2

2
 , 

y+y 2

2
 = 3−3

2
 , 4+4

2
                   = (0,0).
b). Radius of the circle= distance 
between (0,0) and (3,4) 
      = √32

+42 = √9+16 
                = √25 = 5.
c). Equation of the circle
   x2 + y2 = r2 
   x2 + y2 = 52 
   x2 + y2 = 25.
……………………………………………….drvsr
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Question. 43.

Solution.
Radius = 8cm; height = 15cm.

a) Radius = 8cm
   Height = 15cm
b) Slant height
   l = √h2

+r2 
    = √152

+82 
    = √225+64  = √289 = 17cm
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c). CSA of the cone = πrl.
    = π ×  8 ×  17 = 136πcm2 . 
……………………………………………...drvsr
Question. 44.
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Solution.
Given, AEB = 900 , C =500 

 D = 1300 . 

 a) E On the circle.
       [∵ 900 semicircle] 
b)  D inside the circle [ ∵> 90)
    C out side the circle.[∵< 90]
c) Yes,
  ABCD be cyclic quadrilateral
……………………………………………….drvsr
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Question. 45.
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 Solution. 
a) 3       b) 2 ,    c) 6   ,
d) 12     e) 4 .
……………………………………………..drvsr

SSLC Model Examination March
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Mathematics – English Version.
Detailed Solutions with Questions.

Prepared by Dr.V.S.RaveendraNath.
        …………………………………….
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